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General Instructions:

(i) Question paper comprises five Sections — A, B, C, D and E. There are 34 questions in the question paper. All
questions are compulsory.

(ii)Section A — Question 1 to 21 are MCQs of 1 mark each.

(iii) Section B — Question no. 22 to 27 are Short Answer Type Questions, carrying 3 marks each. Answer to
each question should not exceed 60-80 words.

(iv) Section C - Question no 28 to 30 are Long Answer Type Questions, carrying 8 marks each. Answer to each
question should not exceed 300-350 words

(v) Section D — Question no.31 to 33 are Source based questions with three sub questions and are of 4 marks
each

(vi) Section-E - Question no. 34 is Map based, carrying 5 marks that includes the identification and location of
significant test items. Attach the map with the answer book.

(vi) There is no overall choice in the question paper. However, an internal choice has been provided in few
questions. Only one of the choices in such questions have to be attempted.

(viii) In addition to this, separate instructions are given with each section and question, wherever necessary.

3TaTH fAGer:

1.Tg I T 5 @1 H fanfaa &- @s A, B, C, D 3R E | w9 & 34 ueaA &1 Teft weat ifarr 1

i. @S A H21 9T 8| Tcdeh WA T Hed 1 b Bl

iii. TS-B:9ReT HEAT 22 | 27 o I A 8, o1 & Ucdeh 9ol T Hod 3 3eh g | Tedeh UReT T 37X 60-80
QreeT & 378 #1EY gl TR

iv. WS-C:92T TEAT 28 & 30 & 3T U1 §, TAh & 8 31k &1 Ucdeh 92T &7 36 300-350 2rsar & 31
STe! BleT TR T |

v.T3-D:Ue TEAT 31 ¥ 33 i MR U2t § 18y it 39 w2 § 3R IAF F 4 37 &

Vi.@s-E:9%e HEAT 34 AT MR 8, TSad Ageaqot qliefor a&g3i i ggdreT 3R TATeT AT & [SHRT HieT
5 3ieh g | AT Y 3R IEcTehl & Y Heldol H |

(vii) 9T OF & IS THY [dehed 781 &1 §Telllh, H© YA H HARD fdshod TereT foham a7 &1 XH 9e&1 & & shael
T Tashed ol IITH T g |

(viii) SHeb 37T, STET AT &1, Tcdeh TTeTeT 3N TR o WY JHefal-37efaT fider fGu arw &)

Q SECTION-A / T@3-A (1'21=16) M

1 Identify the picture and named it. 1

T few 31T ™ & gganfaw 3R 39 arF @

5
This Phota By Unknawn
Author @ licensad vnder CC
2 Find out from the following pairs which one is NOT correctly matched: 1
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(a) First Order: The Clergy

(b) Second Order: Monks

(¢) Third Order: Peasants and surfs

(d) Fourth Order: Towns and Townspeople

fRFfofad geal # @ &leT a1 |7 gATId =781 & -
(T) TgalT o gy
@ g : fhey
(& ga1: fparT 3tk %
(3N THAT F9T: STIR 3R AIRATET

Fill in the Blanks:
The first known language of Mesopotamia was................

g T 1
AANETTRAT HF Igoll ATT FToT 2 ...

What was the early name of Genghis Khan? T3TeT WTeT T IRTHh T FIT 2T 2

Which statement is not correct regarding Urbanism,
(a) Division of labour is a mark of urban life.
(b) There is social organisation in Urban economy.
(c) Urban economy was mainly depended on Agriculture.
(d) All of the above.
QELRIUT o TFFeeT H PisT TT HUT el el & | (T) 51T TIHTST QAR Siae &l g & |
o) AT 37 cHaEAT H ATHITSS HIST gl g |
(&)Rre 37e TaEAT HEY & § HY 9T 87 o7 |
EN3Red T

Identify the ruler of the Roman empire with the help of following information:
'l He introduced gold coins solidus.
'] He established second capital at Constantipole.
(a) Augutus(b) Diocletin(c) Nero(d) Constantine

AT SR BT FETIAT A AT ATHISY & AR hT Tgdled P |
[ 3T & e “Tifelsq” TATT|
[ 38 FEJAGAIT H ST IASTLTAT hT FATT |
(T) TECAET) ST (@) FARNE) Freeers

A guild was an association was
(a) Farmers(b) Craft and industry(c) Monks(d) Fourth order

Rres(sof) T e o,
(T) frara(e) ReasiRzeaten @) RegaiiEn) ater aef

What were cathedral towns?
I) Towns developed around plains. ii)Towns developed around industries.
i) Towns developed around churches .iv)Towns developed around Capital.

hAZeT AT A?
(i) HeTar & 3T IR AT M8 (ii) STIRY & ITEITH faeriad QMel |
(iii) T o ITHU [OhfAd 81 | (iv) TSI & AE9 [Jaad el |

Define the term “Mesopotamia.

“HAGICITAAT “ e ol TRATNT Y |

10.

Qubcur tax was levied by Genghis khan
(a) For Law and Order (b) For Welfare Animals
(c) For malntalmng courier system (d) For trade
IR I T3NSI WA & GaRT ST I1AT AT
(@) FeTeT 3R saEar & forw (@) 93 FearoT F faw
(@) HRIT GUITe Y T T & foIv (&) R & fow

11.

The term Feudalism is derived from ............... ,.. Word.
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12

Given below are two statements, one labelled as Assertion (A) and the other labelled as Reason (R).
1

Assertion (A): For the Mongols, Genghis khan was a greatest leader of all time.

Reason (R): In our imagination Genghis khan was a destroyer of cities and responsible for the death

of thousands of people.

A. Both (A) and (R) are correct and (R) is the correct explanation of (A)

B. Both (A) and (R) are correct, but (R) is not the correct explanation of (A)

C. (A) is correct, but (R) is not correct

D. (R) is correct, but (A) is not correct

ST & U TEU 91T §, Teh 1 TR (A) 3T IGE & HROT(R) & &9 H oleel foham AT B

HTAPYST (A): Hallell & [T <3S W 3 Teh T HSH HEToT 7T AT |

IO (R) :

GARY SheTeT H TS WIeT AIRY T fqeaaen AT AR goIRT o9l & 7cg & forw e ar |

(W) &t (T) 3T () FET & 3R (31M) (W) ¥ Wgr AT &

&) () AR (3R ST T &, AfeheT (3) (T) T FET AT LT &

(&) (T) TEY &, AAfeheT (3TR) TLT 78 &

(31) (3TR) Fele, @Hfehet (T) TEY et &

13

Which statements is correct regarding to Mesopotamia civilisation
1. Archaeology began in Mesopotamia in the 1840s.
2. In Old Testament there was reference of Sumer.
3. The palace of king Zimrilim was situated at Mari.
4. Mesopotamia civilisation is also known for its poverty.
Which statements are correct?
(a) Only 2,3 & 4 B) Only 1,2 &3
(b) Only2 & 3 D) All of the above.
IGAT & TEaH H el AT H=T TE &
1.1840 % &1 & AENEITAIAT 7 TIcied I LT §S|
2,318 ¢FerHe H G H1 ool 2

3.3751 FoaRfos &1 Age Ay & f&a ar|

A AT AT FIIAT 37911 RS & T 8fF ST ST £
(T)hadl 2,3 3R 4(d)aad 1,2 3R 3

(&) Shaer 2 3R 3(31) 3T T |

14

Which statements is correct regarding Genghis Khan.
1. In 1206, Genghis khan was proclaimed as “The great khan of Mongols.”

2. Genghis khan was born sometime around 1162.

Choose the correct answer
1)Only 1 (ii) Only 2 (iii) Both 1 & 2 (IV) Neither 1 nor 2

AN WTeT & SR H hieT AT HAT Jar g |
1.1206 &, T3S WTeT T “HINAT T HgTT WieT” TN Torar arar 2am |

2. IS W T oA 11623?34WWE’3-1T21TI eI 3R ol
(i) Faet 1(ii) Faer 2(iii) 1 3R 2 EAi(iv) Far 1 3R 2

15

The Roman Empire was spread over
(1) Asia, Europe and America

(i)  Asia, America and Australia
(iii))  Africa, Europe and America
(iv)  Africa, Europe and Asia
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UHA TTHTST el 31T AT
(i) TR, JUasiearAieT
(ii) TR, AR 3R e
(111) Hﬁlﬁ W&T\T}mﬁﬂ
(iv) 3TSPTRT, TRTHRTRE

16

Which statements are correct regarding Mongols?
1. New chosen military captains under Genghis khan are called ‘Ulus’.
2. Genghis Khan divided his territories into four Noyans.
Choose the correct answer
(a) Only 1 (b)Only 2 (c)Both 1 &2 (d)Neither 1 nor 2
HINGT & TFGY H Plel AT HAUT Tel o ?
1.3NST WIeT o 31T AT Tl T o HTATAT T 3TH gl ST ¢ |
2 T3S W oY 37eY TR BT TR AT & eI fopar |
TN 39 A
(@ FaT (@) haer2 (@) ar 132 @) aTar 1 3iRa8r 2

17.

‘Amphora’ and ‘Dressel 20’ were used to carry

i)Wheat ii)  Wine and olive oil iii) Rice and Pulses iv) Dry fruits
'TFRRT 3R'ZU 20' T SEAAT &l o ToIT TRAT SATAT 2T |

(i) (i) IRTTIHRSITA T el (iii) ATTT3iRETel(iv) T AT

18.

Identify this picture and named it.

U 317 T & ganfav 3R 3T a9 @ |

19.

Mari was a
(1) Temple city ii) Trade Centre iii) Royal city iv) None of the above.
A AT AT,

(i) ATCRLABI (1) SR hgy(iii) T /EN(iv) IRIFT H H P 87|

20.

Given below are two statements, one labelled as Assertion (A) and the other labelled as Reason (R).

Assertion (A): There was no town planning in Ur city.

Reason (R): City Ur has narrow winding streets and irregular shapes of houses..
A. Both (A) and (R) are correct and (R) is the correct explanation of (A)

B. Both (A) and (R) are correct, but (R) is not the correct explanation of (A)

C. (A) is correct, but (R) is not correct

D. (R) is correct, but (A) is not correct
;hﬁ§$a?r%tr?m%u$afr3¢%aﬁm) 3R gHY &I HRO(R) & & H oleer o
T ¢ |

AR (A) : 3T AR FH A1 3 FAIR AT 87 27 |

FROT (R) : AEX 3T H TR GATAGR ITeidT 3R IAITAT HTHL & FRT I |
(W) 2t (W) 3R (3T T I (3 (1) r gy careean

(&) () AT (R BT T &, AfeheT (3) (T) T FET AT LT &

(& (0 T, et (370 Y 7 &

(ENEM) HeEl &, eAfeheT (T) el el &
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21.

Given below are two statements, one labelled as Assertion (A) and the other labelled as Reason (R).

Assertion (A): Our knowledge about nomadic socities comes mainly from chronicles,
travelogues and city based literatures.
Reason (R): The nomadic society themselves produced no literature..

A. Both (A) and (R) are correct and (R) is the correct explanation of (A)
B. Both (A) and (R) are correct, but (R) is not the correct explanation of (A)
C. (A) is correct, but (R) is not correct
D. (R) is correct, but (A) is not correct
;h?}?axuﬂmméwaﬁmmm) 3R g I HROI(R) & & H oleel fohar
AT |1
HAFYA (A) : GIATHSIT HATS & TR H GART ATl LT &9 § $TIgra, 1 gl AR
e TR Hfged & IIe gl & ‘
$RUT (R) :GATECIRT GHTST o TG T IS ATEcd oTeT [o1@T |
(@) &t (T) AR (R) TR (3R) (T) P e A g
@) () IR M) Gt FET &, Afehed (31T) (T) T ALY SATeT e &
@) (T) FElg, Afehe (3R WY T8 &
3N _(3TR) FEYL, AT (T) Hel 61 &

SECTION-B/@US-B (3°6 =18)

22

There was absence of town planning in city of Ur”. Explain this statement.

3T AR H AT AT oIl T 3THTT AT “SH HUeT ehl SITEAT Shifal |

23.

Explain the importance of “YASA” in Mongolian hlstory

el & sfagra & “I1ET “ & HAged &7 guid el

24.

“The division of labour is a mark of urban life”. Discuss this statement in context of Mesopotamian
urbanisation.

;‘agaﬁaﬂa?remfrsha?ra:rm%’l SH Y T TAT F ARTGICTAAT & AR & Headl H
|

25.

“The emperor, the Aristocracy and the Army were the three main players in the political history of the
Roman empire”. Explain this.

QAT AT & TeAtATdeh STaerd & Fare e AR Bt Ao 97 f@renst 4 i gahr
faraR & aofa L

26.

How did a fourth order of society came into existence in Europe.

IR F e g9t T 35T FA g3 2

27.

Describe the social and Political backgrounds of Mongols before Genghis Khan.

TS Wi & 3T J Ugol HIlell o ATHITSIh Td TAaldeh JSSHH HT JuTT &l

SECTION-C/@Us- C  (8*3=24)

28.

“The emergence of writing is also involved with rise of urbanism”. In this context explain
development of writing system in Mesopotamia?

“OIGeT T 3GHT AENHI0T & 36T & AT 37 A § “| 3 Hogd H AQIITAIT H o@sT
Ul & TAehrE I A& HIFST ? OR

What are the characteristics of Urbanisation? The urban character of Mesopotamian temple helped in
urbanisation in Mesopotamia. Justify it.

AE{IOT Y FAAYATT 7 &2 AAAerfATT AfeY & gl aiT F AdaFar & agdeor &
Feg Y| =TT HITd oo &

29.

“Women had a stronger legal position in the Roman empire.” To what extent you are agreeing with
this statement?

%ﬂmwﬁmﬁﬁmﬁﬁuﬁwﬁrm@wwwﬁmmﬁﬁw

30.

. What was the Manorial Estates? Describe its major characteristics.
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A ol SR 7 A SHBT T fAAVAN TS|

SECTION -D  Source Based Questions 4x3=12

31.

The Knight
‘If my dear lord is slain, his fate I’ll share, if he is hanged then hang me by his side. If to the stake he
goes, with him I will burn and if he is drowned, then let me drown with him.’
-Doon de Mayence, a thirteen century French poem (to be sung) recounting the adventures of
Knights.

(a) Who were knights? 1

(b) Why did knight become a distinct group?

(c) Mention any one duties of Knight? 1

GIET

3R A IR TN AR IV §, A 3 SeTeht HIT A &, 3R 3¢ DI & 18 § ol 7qg

3Tl T W oIeHT 1| TS T8 P16 T AT &, A H 3Hh TTY STel S35 ﬁiaﬁaggaw%

dl 7S 38 |1Y g arl'

% Wﬁrg%mmﬁaﬁrmm(waﬁwmma?wmwaﬁam
|

(&) ATST PieT A? 1
(&) ATSC Teh 37eTeT HHG T T ITAT? 2
(31) TS & Rl T o I Soord BT 1

32.

GHAZAN KHAN’S SPEECH
Ghazan khan was the first IL-Khalid ruler to convert to Islam. He gave the following
speech to the Mongol-Turkish nomad commanders, a speech that was probably drafted
by his Persian wazir Rashidudin and included in the minister’s letters.” I am not on the
side of the Persian peasantry. If there is a purpose in pillaging them all, there is no one
with more power to do this than I .Let us rob them together. But if you wish to be
certain of collecting grain and food for your tables in the future. If you insult the
peasantry, take their oxen and seed and trample their crops into the ground, what will
you do in the future? The obedient peasantry must be distinguished from the peasantry
who were rebels.”
(A) Who wrote the speech for Ghazan Khan? 1
(B) What was the theme and aim of the speech of Ghazan Khan?

(C) Why did Ghazan khan support the peasantry? 2
ITSTeT WTeT hT HTYUT

IS WieT STATH H gRafdd 8lel dTedl Ygell JSUA-TIfole AMHE AT| 3egiel HIANeI-Ieh!
GTATIG LT FHATSI I AFATA AT ATYUT ST, Teh HIYUT ST IS 37k BRET doiiX 12
EaRT IR TR aram o1 AR #FAY & ot 7 nfder 47| * H BRET foharat & ga7 7 «7el g |
TS FY T FT P TASAT &, A VAT YT 3 70 73T § 3170 A aren H1$ 718 &1 31850 B?T
ﬁwm&aﬁ%laﬁmmmmﬁwﬁmmasﬁmmaﬂtmmm
¥ T AfRad gl area &1 afe 379 Rearet &1 3Mae Fd &, 390 ST iR A T aa § 3k
3T T T STHT F U S §, dr 31T JasT & 371 HLa1? TR ohamay & 37 foharar
I 37197 AT ART oY fagier a1

(T) 35Tt @I & FIT 1ot fohasy for@r ar? 1

(&) ITSTeT WIeT o HTVOT 7 T 3R 3eged 747 a1? 1

(@) 1577 @ieT N harat 1 gad Ft fhar? 2

[

33.

On the Treatment of Slaves

‘Soon afterwards the city prefect Lucius Pedanius Secundus was murdered by one of
his slaves. After the murder, ancient custom required that every slave residing under
the same roof must be executed. But a crowd gathered, eager to save so many
innocent lives; and rioting began. The senate-house was besieged. Inside, there was
feeling against excessive severity, but the majority opposed any changes (.....)[The
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Senators] favouring execution prevailed. However great crowds ready with stones
and torches prevented the order from being carried out. Nero rebuked the
population by edict, and lined with troops the whole route along which those
condemned were taken for execution.

-Tactius (55-117), historian of the early empire.

(a) Named the author of this passage? 1
(b) What was ancient custom after murder? 1
(c) Why were senators opposed the ancient customs? 2
arat & SgggR W
PG 6 THT §16 AT o A AU USTAIT Aehsd T 3Hh Ueh &1 o heel T T |

ool & IRATT , ATl RaTel & 3TAR Tg IMaRTehdl AN foh Uk g1 S & = g1 arel Tedh
&I T BT & & ST | TRee] T§ed & v et &t aameT & faT TS Toha g1 1S oY IR EH q®
amlmmﬁmﬁmwmﬁﬁamﬁmﬁamwm%mmw
AT, el g o TRl off Seela T faRrer foha (.....)[& FeieR] forsdTest & qa7 & 1| gTeifer
qWﬁTn%nﬁ%wmmgﬁmaraﬁmmﬁwmlFﬁfrﬁrﬂraara:
GART TETET 3T e ofdls, 3R R AR 9T AfAent & A1 dferdeqyr g 1w, foraes @ foier
et ATl T BIAT & fIT o ST =T

ey (55-117), 9RiFe @raEsT & sfagaaR |

(T) SH 377 & oI &l o113 FAT 5?2 1
(@) §IT & ST YTile TAT &7 212 1
(31) eI o grdhet Sfa-Rarait & faxrer &7t fomar? 2

Section-E/@3 -E(1*5=5)

34. | On the given outline map of the world locate the following places.
1| Ru 7rv faeg & AT W e S918T & 62T | (a) Itly Scall
(b) Nishapur ﬁ%l‘l‘?}'
(¢) Antioch TEI3iTh
34. | On the same map two places are located as ‘A’ & ‘B’. Identified it and named it.
2 |3 AFERT W SHE ‘A & ‘B F FTH flg@re e g |

3eToh! TgATTT 3R &) 30T 3W@T o THAT §Ach A1 @ |
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Map for Q.No.34
Q.No.34 & fov AT
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